Fluentin Five - Year 6

Week 5 - Day 5
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Fluentin Five - Year 6

Week 5 - Day 5

3 6.394-2.13=

ITmark
=
4 243 =
[ 14

1 mark

5 87,832 -12,839=
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Fluentin Five - Year 6
Week 5 - Day 5

Answer Sheet

Remember, (M) is written next to those questions you should have tried to solve
mentally first. (W) means a written method is usually more efficient for this question.

}_l

. 800-290=510 (M)
2. 437x5=2,185 (W)

3. 6.394-2.13=4.264 (M)
3 1 1

2 s
4 7+ {4 = 14 or 2 (M)

5 87,832 -12,839=74,993 (W)

For more free resources and intervention support go to thirdspacelearning.com
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